| sY

JapuljA) Aiojoy

HIE At / SPECIFICATIONS

Standard Open-Center Hydraulic Cylinder

- A X771 OO0OFA
BEY XL =0 QOtAl

ru
n

RiE 53
= x AN
2% BRE (oS 204 53 SN

Lock Valve, Relief Valve L& Q2 1feiatx| Algir &4 of 2t
FHo|Lt o] Lot 3 KX

Application / Customer's Benefit
Compact and light weight
Technical features

Built-in lock and relief valves prevent damage caused by excessive pressure, and
ensures saftey during blackouts or loss of power by maintaining pull force

SYH-1036 SYH-1246 SYH-1552 SYH-1877 SYH-2091
LHZ [mm] Available I.D. 36 36,39,40,41,43,45,46 46,52,69 68,69,75,77 7891
[mm] Cylinder Dia. 105 125 155 180 205
E AERF [mm] Piston Stroke 15 15 22 25 30
M o= Push [cm?]  Piston Surface Area 67 100 161 198 252
= 01= pull [cm?] 64.5 89 150 183 234
2= Push [kN(kgf)] Piston Force 25(2549) 38(3875) 60(6118) 74(7546) 94(9584)
Pull [kN(kgf)] 24(2447) 33(3365) 56(5710) 69(7036) 88(8973)
MPa(kgf/cm®)]  Max. Operating Pressure 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8)
[min™'] Max. r.p.m. 8000 8000 6200 4700 3800
Moment of inertia 0.10(0.011) 0.18(0.019) 0.52(0.053) 0.93(0.095) 1.45(0.153)
Weight 8.6 12 16.8 26 33
Total leakage 3 3 39 4.2 45
KITAGAWA® Model S-1036 S-1246 S-1552 S-1875 S-2091
X 51221 JTAEE ASK|of =&, % Maximum turning speed is based upon actual measurment.
% Xlg L AR o n@lo] HAE 4~ AS. X Specifications are subject to change without notice.
4-Q1 w u A
Ri A Bi z T
¢ Jue Bistoke V1 Lt
P
yamh
LR p.
= : i =
z s it\ 2{#‘!( 2 | ol | E o of 5
wc&iiig‘?’ ir\,A = cilf 1T
N = Nt
;l\ - r
H
12-F1
K1
Ji Ji

% See the product dimension Table on the right.



HMIZ X|4= / DIMENSIONS

SYH-1036 SYH-1246 SYH-1552 SYH-1877 SYH-2091
_ 135 155 190 215 240
“ 115 130 170 190 215
“ 100 100 130 160 180
“ 65 80 85 120 140
“ 48 65 70 95 110
m M42x1.5 M52x2.0 M60x2.0 M85x2.0 M100x2.0
36 46 52 77 9
n 30 36 36 36 34
“ 446 529 596 84.6 996 B
o 55 o = o 108 5
“ 73 85 % 121 138 g
“ 45 515 57 70 79 2
_ 104 118 137 166 182
15 115 130 160 185
156 184 191 230 253
15 15 22 25 30
_ 40 40 47 50 55
_ 25 25 25 25 25
“ 1 15 12 175 21
“ 102.5 1265 136 153.5 168
25 30 30 35 35
“ M5x11 M6x9 M6x9 M6x9 Méx14
6-M10x17 12-M10x20 12-M10x20 12-M10x20 12-M12x24
98 135 145 166.5 183
“ 88 98 110 155 165
73 76 86 101 110
47 47 47 47 47
o 15 15 15 15 15
“ 38 50 55 80 95
m 64 76 85 108 120
“ M5x10 M5x10 Mé6x12 Mé6x12 Mé6x12
_ PT3/8 PT1/2 PT1/2 PT1/2 PT1/2
m 158 200 220 242 267
28 46 51 58 66
M44x1.5 M52x1.5 M58x1.5 M84x2.0 M99x2.0

42 50 56 81 %




